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Answer any ﬁve questions
All questions carry equal marks
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Describe constructional features of both squirrel cage induction motor and slip ring

”ﬂuctlon ‘motor. Piscyss the merI}s‘pf one over angther,” ™ f\ ST -/
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'Describé how 3-phase supply produces a rotating magnetlc fieId of ‘coristant value at

constant speed with vector diagram?

A 4-pole three phase 50 Hz Induction motor has a star connected rotor. The rotor has a
resistance of 0.1 ohms per phase and standstill reactance of 2 ohms per phase. The
induced emf between the slip rings is 100V. Its full load speed is 1460rpm, find i) slip,

i), rotor-frequency, iii)-rotor current,-iv) rotor power-factor on full toad condxﬂon P
Assume sllp rmgia:e shorted /,_l\ L7 ’,L,\\ L ;,1_3," L= [3&151

Explain the working prmclple of induction generator.

A 4-pole, 451V, 50Hz star connected, 3-phase induction motor has stator impedance of
(0.8+j2.4) ohms per phase and equivalent standstill rotor impedances of (1.0+j2.2) ohms
per phase. Find the maximum torque that the motor can develop and the slip at which it
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etive.the equation fo: totque d,eveloped hy an mdu’énon motor. . v 'a. typical t_orqﬁe-‘ i

slip curve and deduce the condition for maximum torque. [15]

Explain the two reaction theory of synchronous machines.
A 3-phase, 6 pole star connected alternator revolves at 1000rpm. The stator has 90 slots

and 8 conductors per slot. The flux per pole is 0.05wb. Calculate the voltage generated by

the machtne if the/winding factor i$0.96. VA T O [8+*l] 8

—-—a\ w ~\ s J-m--’\ ! /»— = f-«««\ > / P!

Exp]am the procedure ot POTIER method to calculate voItage regulatlon ofan altemator =
[15]

Bring out the requirements for two alternators to be working in parallel.

Explain the principle of operation of synchronous motor. (8+7]

ﬁplam the workmg prmelple of,'esﬁlgle phase md'uctnon motor wxih the help of ﬂﬁux\!c. A
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